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Ql: B)

#include<iostream.h>

#includecconio.h>

main0

{

int B[30], M:l;
for(int i:0;i<30;i++) cin>>B [i] ;

for(int i:0;i<30;ir+) M*:B[i] ;

cout(("Multiplication :"<<M<<endl;

getch0;

)

Q2: A)

#include<iostream.h>
#include<conio.h>

main0

{

int A[3][af: {{2,8, 1, 4}, {3, 5, 22, -4lr, {-5, -9, 33, -8}}, B[a][3];

for (int i:0;i <4;++i){

ouut<<endl;

for(intj:0j<3 j++;



Blilul:AUltil;

)

for (int i -0;i <4;++i){

cout<<endl;

for(int j:0j<3 j+-r) {

cout<<B[i]U]<<" ";

)

cout<<endl;

\t
getch0;

)

Q2: B)
int Min(int vall,int vaL2)

{
if (val < val)

retum vall;

else

return val2;

)

#include<iostream.h>

#include<conio.h>

mainQ

{

int a,b;

cin>>a)>b;

cout((" The minimum value : "<(Min(a,b);

getch0;
-t

)



Q3: A)

#include<iostream.h>

#include<conio.h>

main0

(
t

float x:5;

do

t

cout(x(endl;

X+:0.3;

)While(x<:S);

getch0;

II

Q3: B)
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The multiplication is : 2,557,585. 1 7 I



Q4: A)

#include<iostream.h>

#include<conio.h>

main0

{

int A,B,C,D;

cin>>A>>B>>C>>D;

cout<<(Al ( ! (A&B)& ! (B 
I 
C)))<<endl;

cout<<(( ! (A&B)& ! (B 
I 
C))&( ! (B 

I 
C) 

| 
(C&D)))<<endl ;

cout<<( ! (Dl ! (Bl C)l( C&D)))<<endl;

cout<<(A<<7)<<endl'

cout<<(C>>4)<<endl;

getch0;

)

Qa: B)

#include<iostream.h>

#include<conio.h>

main0

t

int A[10], sum:0;

for (int i:0;i<10;i+){

A[i]:i*i*1'

sum +:A[i];

)

cout (("Sum :tt<<sum <<endl;

getch0;
J;l

J'



Q5: A)

#include<iostream.h>

#include<conio.h>

#include<string.h>

main0

{

char A[]:"Iraq is our countq/.", B[]:"We love Iraq";

cout<<strchr(B,'l')<<endl'

c out<<strc at(A,B )<<endl ;

cout<<strncpy(A,B, 8)<<endl ;

getch0;

)

Q5: B)

#include<iosffeam.h>

#includecconio.h>

, #include<math.h>

main0

(
t

int x=5;

float Y;

while(x<:l0)

t
Y: 6/pow(x,4)+ 9/pow(x*6) - I2lpow(x,8) +I5lpow(x,10);

cout(<Y(<endl;

)

g9tch0;
J]

)



--a'i.

Q6: A)

#include<iostream.h>

#include<conio.h>

#include<math.h>

main0

{

float y;

for(int i:f i<:10 , i++11

5i/3+sqrt(i);

cout("y is equal : "((y(endl;

)

getch0;

)

Q6: B)

#include<iostream.h>

#include<conio.h>
' 

#include<math.h>

main0

{

float Y:0;

for(int x:20; x<:60; x#)

{

Y +: acos(xlsqrt ( -2) I 2)+log(x)* fabs(pow(x,3)-3 ) ;

)'
cout<<Y<<endl;

getchQ;

h:


